H £ 0l & AF & S

20238 &= =014t

Al A

A LAl E R
M MACK 24 2 22|(ELXISGNL/AAE)
Rl sSEA 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
VN ENN; 4,571,494 2,559,946 2,011,548
= 73,490
[ 25,000
= 533,3%
Ea 3,939,609
APEEA 24 & 2A(RELKSINL/AA ) 341,623 194,500 147,123
S3HX 2l 341,623 194,500 147,123
sS3HA 22l (KHA) 24,260 90,000 A\65,740
401 Al HIZL S 0HYI 24,260 90,000 A\65,740
01 Al&HI 24,260 90,000 65,740
Os&HA 301y LR 11,000
—ZUsSEX Y018 2
3,000,000 +27H 2= 6,000
—NZsSEA Y018 2hE
2,500,000 *2JH 2= 5,000
OZUs38EX HIEENZAIE 58 &
2= 5,000,000& 12l 5,000
OsaHAl &g il 8,260
—MEEs+=Hg £X
4,000,000 * 10K 2 4,000
&= A € =Z 2,500,000& *12] 2,500
—Hi==2 &bl 880,000& 22 1,760
sS3HX 2el(2]) 46,823 45,448 1,375
101 @12A4H| 46,823 45,448 1,375
MU IIRINZZE2NSES 46,823 45,448 1,375
OZU &g - s3SHA ZHIJ| 12| 12,809
—0l= 150,000 7 +52 23] 10,500
—apt 76,9603 x32 x5 x23] 2,309
Ollz sSHAl S| 21At| 4,524
—0l= 150,000 x4 +32 #2353 3,600
—au 76,9603 *2H*32 x22 924
Os3HAl 22/ARA 29 el2H| 29,490
—JlEs 76,9603 x23L « 1204 S+ 1 21,241
-5+ 76,9603 x525=+1 4,002
—SEFHI 500,000 221 1,000
— M2 200,000 x 12042 +1d 2,400
—d=maEsteg
76,9603 * 11«18 847
s3H 2el(2Lhl) 250,540 46,944 203,5%6
201 Ler23| 50,540 26,944 23,596
01 At2teltl 11,420 4,000 7,420
OZUssHAl BASEEE =58
2,000,00021+2E X 4,000




A LXelEX

M AHOR =4 Y Z2e(FELXGINL/AA )
Rl sSEA 2 EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OZUHs3EX HIEQEH =2AA =2
200,000& %12 200
Oz S3H=HM2E A2 25 72
1,000,000 %52 5,000
OZUWHsSEX 2e/AIRA F=)| gX=
20,0002 «12JH 2 240
OzZU S3H=XclE IV I Z=Z
165,000 * 1204 = 1,980
02 2324l 39,120 22,944 16,176
o4z, =W s3HX 24| 17,124
—12s3HA MBS
50,0002 *30 %1204 & 1,800
—ZU=s3EX EIAE=
250,000 #5120 & 15,000
—zU, I=s3HA d=k 2=
5,000 12042 60
—ZUHsSEX 2eIMFL QHY A=
22,0002 «12J4 2 264
O2U STHAHT 24| 21,99
—ZRHSXIE HIIHEEY +48
300,000 * 1204 3,600
—S3H=Xel& &I MES
1,500,000« 12JH 2 18,000
—S3H=XMeld Y ALE=
33,000 * 12042 3%
307 212t01™ 200,000 20,000 180,000
05 glzt2(&= 200,000 20,000 180,000
Oz S3H=HM2E 2| e QY
200,000,000& %1042~ 200,000
S3HA Ze(EZAY) 20,000 12,108 7,892
308 KFXIEHHMSOIS 20,000 0 20,000
11 S 2SS & AET AL 20,000 0 20,000
Odg s3HX 1Y XEE SR A(
CHIEZX) 10,000,000 #20H A 20,000
SRR BEsHUBITHA /ABHHT) 145,050 269,580 A124,530
S 22,800
a 122,250
g & 2R gdEt 145,050 269,580 A124,530
< 22,800
T 122,250
SXNFX HAZH 45,050 90,580 A45,530
201 L2 42,050 66,580 A24,530
01 AtR2telb] 42,050 48,950 26,900
OFX=Al ¢t 22X M S
2,500,000 +32 7,500
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L Atel S At

A SXNSA BHGHUNDTHE/ANHE)
SRl J1g & AR 245 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFXRX 82 0IA M
3,000,000& %12 3,000
OF=X 82 =58 M=
10,0002 %1,800H 18,000
OFXRX A= HR0 d&2
20,0002 58 »203] 2,000
OFAsA REAMWU) =SS (2=
s) 150,000 %53 750
OFNHEX & & 22E MH
1,500,0002 23] 3,000
OFitaegd 2¢ ZYl
100,000 * 1204 & 1,200
OJIEEHEAIAH 0122
6,600,000& 1= 6,600
203 HR=4AY] 3,000 24,000 A21,000
03 A= PR F&| 3,000 24,000 221,000
OAIBZ=L PR =2H| 3,000,000 3,000
EX=A 2dst 24,000 24,000
301 22N 24,000 24,000
09 2Il=E 0| 24,000 24,000
O=U2 XA & EWEIA =3
500,000& x242] 12,000
O M2 2AXN =F
500,000% x242| 12,000
SXog A 76,000 185,000 79,000
s 22,800
s 53,200
307 212+01& 76,000 185,000 A79,000
[ 22,800
Ea 53,200
02 B A HE L 76,000 185,000 79,000
OFIIY XS
76,000,000 #1002 76,000
= 22,800
o 53,200
NSHE A Yo LS3HE/LBAT) 2,473,348 918,737 1,554,611
< 198,878
s 2,274,470
el =eld 2,473,348 918,737 1,554,611
= 198,878
= 2,274,470
elisedl g8 =8 329,300 298,000 31,300
201 er2 3| 23,100 22,000 1,100
01 AtR2telHl 23,100 22,000 1,100
Ooelxsed| =28 AW 5,400




A LAl E R
B NYHE Cl2t UsH UMD IHE /ABHE)
el eltseldl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ZA==g 500,000& *42] 2,000
— 2 A0 150,000& x4 600
—&==9 & 100,000 *28H 2,800
O XeHISHM SF(202I8) X2
5,200& 1,000 5,200
OoIpse)l B Haot M
60,0002 x10JH+53] 3,000
oelxt=c| g2 M
5,000,000& *12] 5,000
Oelxseld| el 1,500,000 #32] 4,500
207 ARl 70,000 70,000
01 H1E4H] 70,000 70,000
OXNgag UsJIa S =8 94|
20,000,000& x13] 20,000
Ol AXNAUSHE =8 S| 50,000
—JI2HE =8 s34l
30,000,000& *13] 30,000
T EIESIE-=T]
20,000,000&*13] 20,000
301 EtE N = 236,200 276,000 39,800
14 JIEt 2 a3 236,200 276,000 39,800
Od&¥es K& 300,000 634 190,200
OU=sts d&= A&
100,000 %10 1,000
ORI dA&els K2
500, 000& * 10K 5,000
OMers Zedds Nd 40,000
—20214, 20224 2xH= 1,000,000& x40 40,000
FHYR =M 412,300 358,300 54,000
< 141,422
[Ea 270,878
201 Ler23 | 38,200 5,000 33,200
01 At2t2ltl 3,200 5,000 /1,800
O MR & oM 29 =29
500,000& 42| 2,000
OFARM 2% 40t H=
60,0002 *5I1 x4 3] 1,200
03 A= 35,000 0 35,000
Os|Y&EE 0F2tal0l 15,000,000& 15,000
OFAFAAZ(4BHI],5tEH])
15,000,000 15,000
OFESO0R MAlEl & =228 29
2,500,000 *22] 5,000
301 EetE NS 54,200 53,600 600
== 20,880
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Mo T olar AsH(UNDRHE/UHHE)
el elt=eldl (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
[Ea 33,320
11 EAAHIXIRES 2,000 0 2,000
OOl o HUFM DIkl Y| XE3
40,0003 x10F x5 2,000
14 JIEt2d = 52,200 53,600 21,400
OFY 32 Lig= SHEAE X2 40,200
—208E dF 100,000 «3Z* 1200 & 3,600
= 1,440
[ia 2,160
—218k HF 100,000& x14H 120 2 16,800
s 6.720
s 10,080
— 29T 8F 100,000 x0E 1200 10,800
& 4,320
= 6.480
—28BEE HF 100,0002 « 152 «6IH & 9,000
= 3,600
[Ea 5,400
OHEEHGX =AHAES NJAMS
100,000& x 10120 & 12,000
[ 4,800
T 7,200
307 212t01d 319,900 299,700 20,200
= 120,542
[Ea 199,358
02 QI HBHANEEER 319,900 299,700 20,200
OFdH =M gda N&
3,700,000 24 %5€! 18,500
OFLYEA 23=XI3IS
200,000 %1,507& 301,400
< 120,542
s 180,858
=299 OXE JHE 22Xl A 16,890 9,400 7,490
= 6,756
Ea 10,134
301 22N = 16,890 9,400 7,490
=S 6,756
s 10,134
14 0Bt 2as 16,890 9,400 7,490
OXERRet U JtE E3Xel X 16,890
—AERLS G JHE B3Rl K&(2
o &dH) 150,000 x24I CH* 1290 2 3,600
= 1,440
s 2,160
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A LAl E R
M XA Azt USHYES T /YEIET)
el eltseldl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—MERLRQ URH S E3Xtel X (°2
1" &H) 150,000 =2l CH 1200 & 3,600
= 1,440
Ea 2,160
—AERL O JHE 23Xl KIA(2
9 &F) 120,000 =1 AICH* 1290 2 1,440
< 576
[Ea 864
—MERLRQ URH JHE E3Xtel X (°2
28 &%) 150,000 *5AICH*11HE 8,250
= 3,300
Ea 4,950
FEdH 234l 35,800 122,037 N\86,237
== 7,500
o 28,300
201 2= 35,800 0 35,800
== 7,500
= 28,300
01 At2telt] 7,200 0 7,200
OFEHH MEES € HIS
300,000& * 12043 3,600
OFGUEH (B4l SADI S)
300,000&* 12043 3,600
02 s3=gHl 3,600 0 3,600
oMz, stlg s 300,000 * 1204 & 3,600
03 A= &I 25,000 0 25,000
OXEZ Uy T2 2HH| X At
& 25,000,000& 25,000
= 7,500
[Ea 17,500
FHER ZEXots A2 MY 120,000 128,000 /8,000
s 36,000
s 84,000
301 EtE NS 120,000 128,000 /8,000
[ 36,000
Ea 84,000
14 JIEt2 8= 120,000 128,000 28,000
oYERF Ze=0tas A&
2,000,000 ~60& 120,000
= 36,000
o 84,000
NLASUHSIIS(0IETHE) 1,500,000 1,500,000
401 Al HIZ S OHYI 1,500,000 1,500,000
01 AlZ8| 1,500,000 1,500,000
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SN ATRIETD

I NSZNEds (LS /dedy)

SRl ARRIAEIA BE 2 e HE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AR HZH 22 3,000 3,000

201 er23 | 2,000 2,000
03 ALY 2,000 2,000
OAMSRBMIIE HEHA & AEE Al
HIN w=s 2,000,000 12 2,000
301 EtE NS 1,000 1,000
11 #AIAHIXIE S 1,000 1,000
OAlIHZNDIY 488 s 4 24
100,000 5 »23] 1,000
MBI HZHIIY ALEH KIJAS 16,000 0 16,000
S 4,800
= 11,200
307 elzto| & 16,000 0 16,000
= 4,800
[Ea 11,200
02 2B YAIHE £ 16,000 0 16,000
OARRIHZMIIE AL, 88l & &3 X3
At 16,000,000 * 10 2 16,000
s 4,800
s 11,200
718 SEAL 50,000 0 50,000
= 25,000
=S 7,500
s 17,500
OI=J18 SEAE 50,000 0 50,000
[ 25,000
= 7,500
[Ea 17,500
307 gl2to| & 50,000 0 50,000
[ 25,000
= 7,500
= 17,500
02 2IZHBYAIHE X 50,000 0 50,000
OH™HFH O=)1e SEAE
50,000,000 *1IH 2 50,000
[ 25,000
= 7,500
= 17,500
AN ds = 459,000 86,000 373,000
= 135,300
o 323,700
DI=3SH S2AE 459,000 86,000 373,000
== 135,300
o 323,700
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Hal: XAYHBLEH LS DTHE/ L)

ool NeANELH 28 (9l @)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
201 Let2| 18,000 2,000 16,000
& 4,800
= 13,200
01 ArR2eltl 18,000 2,000 16,000
Oll=ssH S2AY 2= ME
100,000 *5I A *43| 2,000
Oll=ssH S2AY A48
800,000& x2E 1042 16,000
= 4,800
= 11,200
301 LetEEZ 6,000 6,000
11 HALAHIXIRE 3 6,000 6,000
ODISZEN Z2AIY BT &M 24
40,0002 * 15 %102 6,000
307 gI2Hol 435,000 78,000 357,000
= 130,500
= 304,500
02 QIR LA E X 435,000 78,000 357,000
OllS3sH S2AHY 435,000
—BIILZ (M) 5,000, 0002 *37H 4 15,000
& 4,500
i 10,500
—BI L2 (AH&)) 10,000,000 57 2 50,000
= 15,000
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—si=cy s=os A
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& 6,000
= 14,000
—XE3SH JIetAl -
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= 60,000
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—0IS3SH NJdH 48
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= 45,000
= 105,000
UTEIEHEXJ (MY - SAIGLUHUXI/AHTE - DES}) 310,373 461,679 A 151,306
= 41,250
& 37,200
i 231,923
HAXNAAMHI A R HFEALR2| EE 310,373 461,679 A 151,306
= 41,250
& 37,200
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SN ATIETD
M XIS EXNR (LY - SAILLUEX/AHEE - DES})
Cel HYUTAMHIA Y HEUNZ HE (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 41,250
s 63,750
308 XtXIEMSO0IH 105,000 157,000 /52,000
= 41,250
= 63,750
1 SIS0t EAS A 105,000 157,000 /52,000
O==gJ|2 AEAEY
105,000,000 * 191 2 105,000
= 41,250
s 63,750
DSE(AIEX/S) 321,799 321,79 0
FAAHS A2olet xd 321,79 321,79 0
S3LT2IMNS (SS22AHY) 321,79 321,79 0
101 @12A4H| 314,799 314,79 0
MU IRINZZENSE 314,799 314,79 0
Ogg—%IFalAFQ(g—gEE/\F@) 314,799
—JlEs(32g) 223,575,000 223,575
—F=5=g 57, 7203 x32B 132 »23] 48,024
—A2IE28s
100,000 *32Z +3JH & »23] 19,200
—gryag 5,000 *8H*60 & x22| 4,800
—2kA| 5,0003 3260 »23] 19,200
206 M=l 7,000 7,000
01 M= H| 7,000 7,000
O3sLelArd M=tl
109,375 x32E 23] 7,000
FHoNE BS(ASER/HAHEXR) 207,948 207,948 0
== 124,768
o 83,180
FAAHNE SXerd 207,948 207,948 0
< 124,768
= 83,180
N ZSH LA (MEALY) 207,948 207,948 0
= 124,768
= 83,180
101 @124H| 204,714 204,714 0
= 122,828
Ea 81,886
MU IRNZZ2NSE 204,714 204,714 0
OXNSESH LAelAte 204,714
—JlZ2s 54,9602 x22H+60 L 23] 145,095
< 87,057
[Ea 58,038
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L Atel S At

M FHANE ES(MIAEX/FHLHEXRA)
Rl FHAAHES SN (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-5+ 54,9602 x22H 122 +23] 29,019
= 17,411
= 11,608
—AlBlE28E
100,000 x222 *3H & »23] 13,200
== 7,920
o 5,280
—gryg 5,000& »7E+60L +22] 4,200
= 2,520
= 1,680
— 2| 5,000 22 +60 2 x22| 13,200
= 7,920
o 5,280
206 M=l 3,234 3,234 0
< 1,940
Ea 1,294
IEET 3,234 3,234 0
ONABEM LR2IAY T2t
147,000 ~22& 3,234
= 1,940
o 1,204
SHE2IAH (LIS A (DIEH/DIE 120,670 96,703 23,967
el E3H 55,893 46,647 9,246
el 24| 55,893 46,647 9,246
101 @124H| 55,893 46,647 9,246
01 &= 55,893 46,647 9,246
O2XeIEAY Al 22E 55,893
—2eHy 55,893
6= 12,3212 +6E+30A[ 2+ 1200 2 22,178
= 11, 1302 x4 *30A| 2+ 1200 2 16,028
= 9,992 x4 *x30AI 2t 1290 2 14,389
= 9, 1602 x 1 +30A1 2t 1200 & 3,298
Jl=23H 64,777 50,056 14,721
Jl=2Zul(LXtel S Xt 21,372 20,832 540
201 er2 3| 20,352 19,872 480
01 AtR2t2|HI 20,352 19,872 480
OLeIFAt G20 A2SE 7L
10,0003 » 182 #1270 2 +80% 1,728
OgXtel Al & NEMHIA E2E MA
3,000,000 80% 2,400
OL el AL =8 I SAHEA +
= 25,0003 18 +0. 62 A+ 1270 2 +80f% 2,592
OAtRa d24I] RA2el|
120,000 * 120 2 x80% 1,182
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OLXCIEXN ZElH EH P (EW)
250, 000 *2CH 63| *80% 2,400
OLX2IEX T2l EY 2 (2H)
300, 000& *2CH*32 *80% 1,440
OLXeIEXI AMRID| 22| S Ml (=
gl S) 200,000 1201 & x80% 1,920
202 (4t 1,020 960 60
01 =LHO4 L] 1,020 960 60
Odldlel BI%Z =M SAEAH (|
20,0003 17«3 1,020
Jl2dU(LXe| d et 8,59 8,5% 0
201 B2 AL| 2,880 2,880
01 ArR222ltl 2,880 2,880
OgXeldME HSFE S|
8,000& x5 x60 ! *80% 1,920
OLNIBHYE AL AIREE 2
20,0002 *5Z 1204 2 x80% 960
202 04dl 5,715 5,715
01 =WOdbI 5,715 5,715
OgXeldE 2RI 2 SF0Y
20,0003 *5H 9 » 123H£*30% 3,240
OgXeldg S FA 22| S0
110, 0002 x5 *3 *53| *30% 2,475
Jl2ddl (eI REE L) 5,157 5,157 0
201 L2 | 1,728 1,728
01 At 22|l 1,728 1,728
OUTEGAY s S|
8,000 x3% x602 x80% 1,152
OUTHAY Q2% NSEE 7
20,0002 *3H 1204 2 x80% 576
202 Ot 3,429 3,429
01 =WO4bI 3,429 3,429
OUTHUE ADLEZ 2 EX0I)
20,0002 *3Z *9U 1200 2 »30% 1,944
OLIPBUE AREF 2ol EXOI|
110,000 *3% *32 +53] *30% 1,485
JI2ZH(EXNRXEH) 8,59% 7,315 1,280
201 Let2 | 2,880 1,600 1,280
01 ArR22ltl 2,880 1,600 1,280
OFNRXEY R S|
8,000 x5 x60 ! *80% 1,920
OYLET NDEE 7
20,000 *5Z 1204 2 x80% 960
202 o441 5,715 5,715 0
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